
Sto
hasti
 Analysis

Problem Set 4

Sto
hasti
 di�erential equations

4.1 Che
k that the following pro
esses solve the 
orresponding SDE's, where B(t) is

1-dimensional standard Brownian motion:

(a) X(t) = eB(t)
, with B(0) = b solves

dX(t) =
1

2
X(t)dt+X(t)dB(t), X(0) = eb.

(b) X(t) = B(t)
1+t

, with B0 = b, solves

dX(t) = −X(t)

1 + t
dt+

1

1 + t
dBt, X(0) = b.

(
) X(t) = sinB(t), with B(0) = b ∈ (−π/2, π/2), and t < min{t : |B(t) | = π/2},
solves

dX(t) = −1

2
X(t)dt+

√

1−X(t)2dBt, X(0) = sin b.

(d)

(

X1(t), X2(t)
)

=
(

coshB(t), sinhB(t)
)

, with B(0)− b, solves

(

dX1(t)
dX2(t)

)

=
1

2

(

X1(t)
X2(t)

)

dt+

(

X2(t)
X1(t)

)

dB(t).

4.2 LetB(t) be a standard 1-dimensional Brownian motion withB(0) = b, and
(

U(t), V (t)
)

:=
(

cosB(t), sinB(t)
)

. Write down in ve
torial notation the SDE driving the 2-dimensional

pro
ess

(

U(t), V (t).

4.3 Solve the following SDE's, where B(t) is 1-dimensional standard Brownian motion

starting from B(0) = 0:

(a)

dX(t) = −X(t)dt+ e−tdB(t).
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(b)

dX(t) = rdt+ αX(t)dB(t),

with r, α ∈ R 
onstants.

Hint: Multiply by exp
(

− αB(t) + α2

2
t
)

.

(
) Now, X(t) =
(

X1(t), X2(t)
)

∈ R
2
, and B(t) =

(

B1(t), B2(t)
)

is standard 2-

dimensional Brownian motion.

dX1(t) = X2(t)dt+ αdB1(t)

dX2(t) = −X1(t)dt+ βdB2(t),

or in ve
tor notation,

dX(t) = JX(t)dt+ AdB(t), where J =

(

0 1
−1 0

)

, A =

(

α 0
0 β

)

.

Hint: Multiply by left by e−Jt
.

4.4 The Ornstein-Uhlenbe
k pro
ess:

(a) Solve expli
itly the sto
hasti
 di�erential equation

dX(t) = −γX(t)dt + adB(t), X(0) = x0,

and show that the pro
ess X(t) is Gaussian.

Hint: Multiply by eγt.

(b) Compute E (X(t)) and Cov
(

X(s), X(t)
)

.

(
) Bonus exer
ise: Let Y
(n)
k be the Markov 
hain on the state spa
e S(n) :=

{0, 1, . . . , n} with transition matrix

P
(n)
i,j =

i

n
δi−1,j +

n− i

n
δi+1,j , i, j ∈ S(n).

The Markov 
hain Y
(n)
k is 
alled Ehrenfest's Urn Model (or Dogs and Fleas).

De�ne the sequen
e of 
ontinuous time pro
esses

X(n)(t) :=
Y

(n)
⌊nt⌋ − (n/2)

√
n

, t ≥ 0.

Write down an approximate sto
hasti
 di�erential equation forX(n)(t), with time

in
rements dt = 1
n
and 
on
lude (non-rigorously) that the Ornstein-Uhlenbe
k

pro
ess is � in some sense � the limit of the pro
esses X(n)(t) (that is: the s
aling

limit of Ehrenfest's Urn Model.)
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4.5 Write down the in�nitesimal generator as ellipti
 di�erential operator for the follow-

ing It� di�usions:

(a) dX(t) = βdt+ αX(t)dB(t).

(b) dY (t) =

(

dt
dX(t)

)

, where dX(t) = −γX(t)dt + αdB(t).

(
)

(

dX1(t)
dX2(t)

)

=

(

1
X2(t)

)

dt+

(

0
eX1(t)

)

dB(t).

(d)

(

dX1(t)
dX2(t)

)

=

(

1
0

)

dt +

(

1 0
0 X1

)(

dB1(t)
dB2(t)

)

.

4.6 Find an It� di�usion (i.e., write down the SDE for it) whose in�nitesimal generator

is the following:

(a) Af(x) = f ′(x) + f ′′(x), f ∈ C2
0(R).

(b) Af(t, x) =
∂f

∂t
+ cx

∂f

∂x
+

1

2
α2x2∂

2f

∂x2
, f ∈ C2

0 (R
2).

4.7 Let X(t) be a geometri
 Brownian motion, i.e. strong solution of the following SDE

dX(t) = βX(t)dt+ αX(t)dB(t), X0 = x > 0,

where α > 0, β ∈ R are �xed parameters.

(a) Find the generator A of the di�usion t 7→ X(t) and 
ompute Af(x) when f :

R+ → R is f(x) = xγ
, γ 
onstant.

(b) Let 0 < r < R < ∞, and r ≤ x ≤ R. using Dynkin's formula, 
ompute

P
(

τr < τR
∣

∣ X(0) = x
)

,

where τr, and τR are the �rst hitting times of r, respe
tively, R.

Hint: Solve the boundary value problem Af(x) = 0 for r < x < R, with

f(r) = 1, f(R) = 0.

(
) Assume β < α2/2. What is P
(

X(t) ever hits R
∣

∣ X(0) = x
)

?

(d) Assume β > α2/2. What is P
(

X(t) ever hits r
∣

∣ X(0) = x
)

?

4.8 (a) Find the generator of the δ-dimensional Bessel pro
ess, BES(δ)

dY (δ)(t) =
δ − 1

2Y (δ)(t)
dt+ dB(t)

on R+.
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(b) Let 0 < r < R < ∞, and r ≤ x ≤ R. using Dynkin's formula, 
ompute

P
(

τr < τR
∣

∣ Y (δ)(0) = x
)

,

where τr, and τR are the �rst hitting times of r, respe
tively, R.

Hint: Solve the boundary value problem Af(x) = 0 for r < x < R, with

f(r) = 1, f(R) = 0. Note that the solutions are qualitatively di�erent for

δ ∈ [0, 2), δ = 2, respe
tively, δ > 2.

(
) Show that BES(δ) is transient if δ > 2.

(d) Show that BES(2) almost surely hits all points in (0,∞), but never hits 0.

(e) Show that for δ ∈ [0, 2) BES(δ) almost surely hits 0 (no matter where it starts).
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